part_#

100-04 [77]
100-04 [242]
100-04 [243]
100-04 [244]
100-04 [245]
100-06 [18]
100-06 [248]
101-04 [120]
101-04 [121]
101-04 [122]
101-04 [123]
101-04 [131]
101-04 [137]
101-04 [141]
101-06 [21]
101-06 [69]
101-06 [119]
150-04 [78]
150-04 [87]
150-04 [88]
150-06 [26]
18230-1 [149]
201A-6 [74]
3211705 [132]
3211705 [157]
3211705 [158]
3211705 [159]
40106 [67]
817-04 [14]
817-04 [249]
817-04 [250]
817-06 [8]
817-06 [251]
817-06 [252]
817-06 [253]
817-06 [254]
817-06 [255]
817-06 [256]
AN816-6-2D [81]
AN816-6D [83]
AN816-6D [84]
AN818-4D [15]
AN818-4D [138]
AN818-4D [144]
AN818-4D [161]
AN818-4D [162]
AN818-4D [241]

description

SS braided nitrile hose -04

SS braided nitrile hose -04

SS braided nitrile hose -04

SS braided nitrile hose -04

SS braided nitrile hose -04

SS braided nitrile hose -06

SS braided nitrile hose -06
Aluminium hose-end straight -04
Aluminium hose-end straight -04
Aluminium hose-end straight -04
Aluminium hose-end straight -04
Aluminium hose-end straight -04
Aluminium hose-end straight -04
Aluminium hose-end straight -04
Aluminium hose-end straight -06
Aluminium hose-end straight -06
Aluminium hose-end straight -06
Cover clamp for 11mm OD hose
Cover clamp for 11mm OD hose
Cover clamp for 11mm OD hose
Cover clamp for 14mm OD hose
1/8" NPT male to 1/8" barb
Floscan fuel flow sender

Hose clip, 3mm bore

Hose clip, 3mm bore

Hose clip, 3mm bore

Hose clip, 3mm bore

Facet electric fuel pump

1/4" OD soft aluminium pipe
1/4" OD soft aluminium pipe
1/4” OD soft aluminium pipe
3/8"” OD soft aluminium pipe
3/8"” OD soft aluminium pipe
3/8” OD soft aluminium pipe
3/8"” OD soft aluminium pipe
3/8"” OD soft aluminium pipe
3/8” OD soft aluminium pipe
3/8"” OD soft aluminium pipe
Union 3/8” OD tube - 1/8” NPT
Union 3/8” OD tube - 1/4” NPT
Union 3/8” OD tube - 1/4” NPT
Nut 1/4” OD tube (7/16"-20)
Nut 1/4” OD tube (7/16"-20)
Nut 1/4” OD tube (7/16"-20)
Nut 1/4” OD tube (7/16"-20)
Nut 1/4” OD tube (7/16"-20)
Nut 1/4” OD tube (7/16"-20)

connected to:
end a

101-04 [120]
101-04 [121]
101-04 [122]
101-04 [123]
101-04 [137]
101-06 [69]
101-06 [21]
AN827-4D [124]
AN827-4D [124]
AN827-4D [124]
AN827-4D [124]
AN826-4D [125]
AN826-4D [125]
AN822-4D [239]
AN837-6D [225]
AN833-6D [226]
AN837-6D [225]
100-04 [77]
100-04 [244]
100-04 [242]
100-06 [248]

VENT_ADAPT [147]

AN816-6D [83]
SENS_TEE [116]
RS_SENSOR [75]
RS_SENSOR [75]
18230-1 [149]
AN816-6-2D [81]
AN819-4D [16]
AN819-4D [164]
AN819-4D [240]
AN819-6D [105]
AN819-6D [106]
AN819-6D [110]
AN819-6D [102]
AN819-6D [114]
AN819-6D [107]
AN819-6D [112]
40106 [67]
201A-6 [74]
201A-6 [74]
AN823-4D [10]
AN822-4D [232]
AN838-4D [30]
AN837-4D [234]
AN837-4D [234]
AN816-4D [146]

end b

150-04 [78]
150-04 [88]
101-04 [131]
150-04 [87]
101-04 [141]
101-06 [119]
150-06 [26]
100-04 [77]
100-04 [242]
100-04 [243]
100-04 [244]
100-04 [243]
100-04 [245]
100-04 [245]
100-06 [248]
100-06 [18]
100-06 [18]
MECH PUMP [72]
CARB_STBD [79]
CARB_PORT [80]
MECH PUMP [72]
3211705 [159]
AN816-6D [84]
FLU-180 [118]
FLU-180 [118]
FLU-180 [257]
FLU-180 [257]

AN822-6-2D [229]

AN819-4D [163]
AN819-4D [145]
AN819-4D [139]
AN819-6D [103]
AN819-6D [104]
AN819-6D [7]
AN819-6D [113]
AN819-6D [108]
AN819-6D [109]
AN819-6D [111]
AN818-6D [100]
AN818-6D [95]
AN818-6D [94]
AN819-4D [16]
AN819-4D [139]
AN819-4D [145]
AN819-4D [163]
AN819-4D [164]
AN819-4D [240]

end c

FS02 [246]

endd

page 1: printed on 2019-01-06



part_#
AN818-6D [6]
AN818-6D [89]
AN818-6D [90]
AN818-6D [91]
AN818-6D [92]
AN818-6D [93]
AN818-6D [94]
AN818-6D [95]
AN818-6D [96]
AN818-6D [97]
AN818-6D [98]
AN818-6D [99]
AN818-6D [100]
AN818-6D [101]
AN819-4D [16]
AN819-4D [139]
AN819-4D [145]
AN819-4D [163]
AN819-4D [164]
AN819-4D [240]
AN819-6D [7]
AN819-6D [102]
AN819-6D [103]
AN819-6D [104]
AN819-6D [105]
AN819-6D [106]
AN819-6D [107]
AN819-6D [108]
AN819-6D [109]
AN819-6D [110]
AN819-6D [111]
AN819-6D [112]
AN819-6D [113]
AN819-6D [114]
AN822-4D [232]
AN822-4D [239]

AN822-6-2D [229]

AN822-6D [2]
AN822-6D [38]
AN822-6D [39]
AN822-6D [40]
AN822-6D [227]
AN822-6D [231]
AN823-6D [63]
AN826-4D [125]
AN827-4D [124]
AN833-6D [226]

description

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)

Nut 3/8” OD tube (9/16"-18)
Sleeve Coupling 1/4” OD tube
Sleeve Coupling 1/4” OD tube
Sleeve Coupling 1/4” OD tube
Sleeve Coupling 1/4” OD tube
Sleeve Coupling 1/4” OD tube
Sleeve Coupling 1/4” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube
Sleeve Coupling 3/8” OD tube

90° Elbow 1/4” OD tube - 1/8"” NPT
90° Elbow 1/4” OD tube - 1/8” NPT
90° Elbow 3/8” OD tube - 1/8” NPT
90° Elbow 3/8” OD tube - 1/4” NPT
90° Elbow 3/8” OD tube - 1/4” NPT
90° Elbow 3/8” OD tube - 1/4” NPT
90° Elbow 3/8” OD tube - 1/4” NPT
90° Elbow 3/8” OD tube - 1/4” NPT
90° Elbow 3/8” OD tube - 1/4” NPT
45° Elbow 3/8” OD tube - 1/4"” NPT
90° elbow 1/4” OD tube (7/16"-20) with
4-way union (cross) 1/4” OD tube
90° Bulkhead elbow 3/8” OD tube (9/16”

connected to:
end a

AN822-6D [227]
GAS375-M [27]
AN822-6D [2]
AN822-6D [38]
AN822-6D [39]
AN822-6D [40]
AN816-6D [84]
AN816-6D [83]
AN833-6D [226]
FS20x7F [28]
AN822-6D [231]
AN823-6D [63]
AN816-6-2D [81]

AN822-6-2D [229]

AN818-4D [15]
AN818-4D [138]
AN818-4D [144]
AN818-4D [161]
AN818-4D [162]
AN818-4D [241]
AN818-6D [6]
AN818-6D [89]
AN818-6D [90]
AN818-6D [91]
AN818-6D [92]
AN818-6D [93]
AN818-6D [94]
AN818-6D [95]
AN818-6D [96]
AN818-6D [97]
AN818-6D [98]
AN818-6D [99]
AN818-6D [100]
AN818-6D [101]
TANK_C [36]
FRFF [238]
40106 [67]
TANK_A [34]
TANK_B [35]
FS20x7F [28]
FS20x7F [28]
GAS375-M [27]
AN818-6D [98]
TANK_C [36]
N1EU35G [76]
101-04 [120]
AN818-6D [96]

end b
AN819-6D [7]
AN819-6D [102]
AN819-6D [103]
AN819-6D [104]
AN819-6D [105]
AN819-6D [106]
AN819-6D [107]
AN819-6D [108]
AN819-6D [109]
AN819-6D [110]
AN819-6D [111]
AN819-6D [112]
AN819-6D [113]
AN819-6D [114]
817-04 [14]
817-04 [250]
817-04 [249]
817-04 [14]
817-04 [249]
817-04 [250]
817-06 [252]
817-06 [253]
817-06 [8]
817-06 [251]
817-06 [8]
817-06 [251]
817-06 [255]
817-06 [254]
817-06 [255]
817-06 [252]
817-06 [256]
817-06 [256]
817-06 [253]
817-06 [254]
AN818-4D [138]
101-04 [141]
AN818-6D [101]
AN818-6D [90]
AN818-6D [91]
AN818-6D [92]
AN818-6D [93]
AN818-6D [6]

AN818-6D [99]
101-04 [131]
101-04 [121]
101-06 [69]

end c

101-04 [137]
101-04 [122]
AN924-6D [70]

endd

101-04 [123]

page 2: printed on 2019-01-06



part_#
AN837-4D [234]
AN837-6D [225]
AN838-4D [30]
AN842-4D [5]
AN842-4D [117]
AN911-1D [233]
AN913-2D [140]
AN914-1D [1]
AN914-1D [37]
AN914-1D [236]
AN924-4D [13]
AN924-4D [71]
AN924-6D [42]
AN924-6D [70]
CARB_PORT [80]
CARB_STBD [79]
CLIPOO0O [153]
CLIPOO0O [154]
CLIPOOO [155]
CLIPOO0O [156]
DV125 [9]
DV125 [32]
DV125 [33]
FLU-180 [118]
FLU-180 [257]
FPAS03/B [115]
FS02 [246]

FS02 [247]
FS20x7F [28]
GAS375-M [27]
MECH PUMP [72]
MS21919-WDG6 [22]
MS21919-WDG9 [24]
N1EU35G [76]
NP125 (AN913-1D) [29]
RS_SENSOR [75]
SENS_TEE [116]
TANK_A [34]
TANK_B [35]
TANK_C [36]
TU23RM [66]
TU23RM [258]
VENT_ADAPT [147]

description

45° Bulkhead elbow 1/4” OD tube (7/16"
45° Bulkhead elbow 3/8” OD tube (9/16"
90° Bulkhead elbow 1/4” ID hose - 1/4” OD
90° Elbow 1/4” ID hose - 1/8” NPT

90° Elbow 1/4” ID hose - 1/8” NPT

1/8” NPT to 1/8” NPT male union

plug 1/4” NPT

90° Elbow int & ext 1/8” NPT

90° Elbow int & ext 1/8” NPT

90° Elbow int & ext 1/8” NPT

Bulkhead nut 1/4” OD tube (7/16"-20)
Bulkhead nut 1/4” OD tube (7/16"”-20)
Bulkhead nut 3/8” OD tube (9/16"-18)
Bulkhead nut 3/8” OD tube (9/16"-18)
Port carburettor

Starboard carburettor

Hose clip 000 - 9.5 - 12mm (3504) (7/32 -
Hose clip 000 - 9.5 - 12mm (3504) (7/32 -
Hose clip 000 - 9.5 - 12mm (3504) (7/32 -
Hose clip 000 - 9.5 - 12mm (3504) (7/32 -
Fuel drain 1/8” NPT

Fuel drain 1/8” NPT

Fuel drain 1/8” NPT

1/8" ID clear polyurethane tubing

1/8” ID clear polyurethane tubing

1/8" NPT - 6mm union - brass (600-0659)
fuel line restrictor

fuel line restrictor

Selector valve

Gascolator

Engine-driven pump

P-clamp cushioned 3/8”

P-clamp cushioned 9/16"

UMA fuel pressure sender

Blanking plug 1/8” NPT

Fuel level (weight) sensor

3-way adaptor for fuel level sensor

Main (port) tank adaptor, 3 holes

Reserve (starboard) tank adaptor, 2 holes
Vent (top) tank adaptor, 2 holes

6.5mm bore clear polyurethane tubing
6.5mm bore clear polyurethane tubing
4-way adaptor for fuel vent pipes

connected to:
end a

AN818-4D [161]
101-06 [119]
AN818-4D [144]
SENS_TEE [116]
SENS_TEE [116]
VENT_ADAPT [147]
TANK_C [36]
TANK_A [34]
TANK_B [35]
VENT_ADAPT [147]
AN837-4D [234]
AN838-4D [30]
AN837-6D [225]
AN833-6D [226]
150-04 [88]
150-04 [87]
FPA903/B [115]
AN842-4D [5]
AN842-4D [117]
HFSB 6-2N [237]
AN914-1D [1]
AN914-1D [37]
GAS375-M [27]
3211705 [132]
3211705 [158]
TANK_A [34]
100-04 [245]
TU23RM [66]
AN822-6D [39]
AN822-6D [227]
150-06 [26]

AN826-4D [125]
GAS375-M [27]
3211705 [157]
AN842-4D [5]
AN914-1D [1]
AN914-1D [37]
AN822-4D [232]
CLIP00O [153]
CLIPO0O [155]
AN911-1D [233]

end b
AN818-4D [162]
101-06 [21]
AN924-4D [71]
CLIPOO0O [154]
CLIPOOO [155]

DV125 [9]
DV125 [32]

HFSB 6-2N [237]

TU23RM [66]
TU23RM [66]

TU23RM [258]
TU23RM [258]

3211705 [157]
3211705 [159]
CLIPO0O [153]

AN822-6D [40]
AN818-6D [89]
150-04 [78]

FPSB [260]

3211705 [158]
AN842-4D [117]
AN822-6D [2]
AN822-6D [38]
AN823-6D [63]
CLIPO0O [154]
CLIPO0O [156]
18230-1 [149]

end c
AN924-4D [13]
AN924-6D [42]

AN818-6D [97]
DV125 [33]

AN316-10 [259]
3211705 [132]
FPA903/B [115]

AN913-2D [140]
FS02 [247]

AN914-1D [236]

endd

NP125 (AN913-1D) [29]

AN823-4D [10]

page 3: printed on 2019-01-06



